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STATISTICS

Paper : STA0100104
( Descriptive Statistics and Probability-1I)
- Full Marks : 45
Time : Two hours

The figures iri the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
Ooi eITIRs ed il

() Which of the following is used as a
summary measure for a sample ?
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(i) Population parameter
(i) Sample statistic
efomfa efomia £
Contd.



[\ 1,\\'\

(G}

\

(b)

(it)) Population mean
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(iv) None of the above
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A quantitative scale where ther

i en
true zero and equal interval betwe

neighbouring points is termed as
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() Ordinal scale

RS W
(i) Nominal scale
AEHE A
(iii) Interval scale
R4 A

(iv) Ratio scale

TS W
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(¢)  Which of the following options is the

(d)
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true example of primary data ?
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(i) Journal | AR o
() Book JE

(i) Census / for

(iv) Newspaper / ol s

Which of the following measures is not
influenced by extreme values ?
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() Arithmetic Mean
RRIGIHRC
(i) Geometric Mean
RIGIERES

(i) Median

L

(iv) None of the above
KEscftint pex
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Answer any five from the fo
questions : :
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(e) Two different dice are rolled together.

What is the probability that the sum of
the numbers on the two dice is 5°?
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(iv) None of the above
89T I8 =

llowing
2x5=10

hat are the different scales of

asurements of statistical data?
rements

plication

me
In which of these measu

mathematical operations mult1
and division can be carried out?
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(b)
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(e)

Distinguish between variables and
attributes.

b Ik (AR e st e

Write four sources of secondary data.

(N9 SR 51T Bt Fet)

Distinguish between bar diagram and
histogram.

IR W FEHaT AT A B

Distinguish between ‘inclusive’ and
‘exclusive’ types of class intervals. How
are ‘class boundaries’ calculated from
‘class limits’?

e i Ree’ ) SR e A1
o7t | “ et S o ‘@ AR R s
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Show that the algebraic sum of
deviations of a set of values from their

arithmetic mean is zero.

oryedl @ R TR Tkefer o[ FrRes
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(g) Find the median from the following

frequency distribution : If a tyre is bought from this company,

o il SRSl 265 w1 e e < what is the probability that
x:123 45 [ 51 B % %A e o 77, T
£ 228107 3 T ARIROIRR Fefa

(h) Find the standard deviation of the first (i) it will last more than 10,000km.

‘0’ natural numbers. (iR 10,000km ¥ iz 55 |

ot 51 TR TR A o et w4 o
(i) it has to be replaced between

() A tyre manufacturing company kept a 5,000km and 15,000km.

record of the distance covered before a : GRTI 5.000km STE 15.00
tyre needed to be replaced. The table - a‘»ﬁ%’ <R 000/
shows the results of 1000 cases AR |
G5l BAR 2@ I T ARG Bl TR we () Consider the p.m.f.
3419 SIS Sifeds 4l 199 oo WEZ IR

- Teiel o1 el R =i 2

FififEeT | To ARTIITS (OCTEA 10006 2619

T (TYAIR0R 3 x

' px)=:53x=1,2,3,4,5
Distance : Less than 5,000 to 10,001 to More :
(in kms) 5,000 10,000 15,000  than 15,000 Find (Refg =) :

79 (km) 5,000 9% 5,0009 10,001 9 15,000 0
P{X=1
10000 15000 ©EER {Alpel o2 CERDP
Frequency : 40 190 300 470 _ @ P % <X< % / X > 1}
LEIO)]
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Answer any four from the following

questions : S5x4=20
o R R oo e i 2

(@ Write a brief note on the scale of

(b)

(c)

measurements of statistical data.

AR BUR (IR MR R oo
53 Gl

Write a brief note on merits and
demerits of primary data.
W@m@qmmemaﬁwm
o

In a study of blood groups of 1000

males and 1000 females in & city, the
following data were obtained :

@ 7517 1000 7% &iF 1000 2SR (oF
g < TS Oe SAPTE (A T

Glood Groups Male Female
(oG a9l LR pieg)!
A 150 140
B 300 280
0 450 500
AB 100 80
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(d)

cumulative

Represent the total blood group
distribution with the help of a
Pie diagram.

af6 +1i2 oar wiRare Mz o5 wom 25w
siftaae 1|

Calculate ‘less than’ and ‘more than’

frequencies against
appropriate boundaries from the
following data :

TR ARTIRAR +141 She s [eirs oot
TE UE OOLE TIET FLA] IR Sl
398
Weight of insects
fin gms) 21-30  31-40 41-30 51-60
9fe%iq &T (&)
Number of insects : 15 25 40 60
AT Y
Weight of insects 61-70  71-80
(in gms.)
AOIT 6T (&)
Number of insects : 20 10
SR
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fe) Find median and mode from the
following frequency distribution :
TEe il ALl A% 2l 45 S T
fefa =1 ¢

Class Interval : 0-10 10-20 20-30 30-50 50-70
Frequency 2 8 10 14 . 6

(i The probability density function of a

continuous random variable X is given
by

«ft =iffoz amfezs vore X a il g =

2.
7’7

£(x) ka2(1—x3) ;o O<x<l
Xi=
l 0 ; elsewhere (wmyar)

where k is a constant.

TT k ot 475
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Find the value of k. Usi

ng this vah
k, find the mean and

ue of
vanance of X
14242=5
k@ 5 Gz =) €2 wm e
a7 el 7

p
=4 W m

(9)

Give the axiomatic definition of
probability function.

If Aand B are any two events, then
show that

TENTSl TeiA=s Wz T

M A T% B Tz 951 95, rerm raam
@

P(AUB)=P(4)+ P(B)- P(AN B)
2+3=5

(h) There are two bags A and B. A contains
‘"’ white and 2 black balls and B
contains 2 white and ‘n’ black balls.
One of the bags is selected at random
and two balls are drawn from it. If both
the balls drawn are white, what is the
probability that bag A is selected?

If this probability is &, find the value
of n.
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Answer any one from the following

questions :

10x1=10

(a) Write a detailed note on tabulation of

(b)

data mentioning its types, rules and
precautions for tabulation.

41, e I AREMTOrTR S IR AR
AR eore dft [@ie Gt |

In a study to test the effectiveness of a
new variety of manure, experiment was

performed in 50 fields and the following

results of yield per hectare (in quintals)
were obtained :
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aﬁam%‘f@'ﬁmmq

= 5;:;6 z

1% :‘wa
G &
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Yield WU 5 N-% 35
e ]
Number of fields : 2 3 8 1
(7% %4
Yield D444 45-49 30-54 3-8
et
Number of fields 16 g Z 2
k.
Find (R4 =) -
(i) the mean
gy
(i) the variance
A
(i) the 1st quartile
oA FPLE
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{c)

fiv) the 6th decile
T PETE

the 75th percentile

v)
7509 OO
A B and C play a game and the

hances of winning it in an attempt
C

a5 —all(] T iv y Ahas the
respectlvel .

first chance, followed by B and thiz by

The cycle is repeated till one of ?m
C: the game. Find their respective
wins

chances of winning the game.
A BSI% C & €t (¥ caee i afb AwRe
] 3 ' i’a
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(d) Two dice are rolled,
random varighje whi

faces, Constryct a table

giving the nop.
Zero values of the pr I .

obability magg

function of x
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